

Research Article

A Recursive Formula for Sums of Values of Degenerate Falling Factorials

Dae San Kim¹, Taekyun Kim^{2*}, Jongkyum Kwon³, Hyunseok Lee²

¹Department of Mathematics, Sogang University, Seoul, 121-742, Republic of Korea

²Department of Mathematics, Kwangwoon University, Seoul, 139-701, Republic of Korea

³Department of Mathematics Education, Gyeongsang National University, Jinju, 52828, Republic of Korea
E-mail: tkkim@kw.ac.kr

Received: 10 October 2024; **Revised:** 11 December 2024; **Accepted:** 31 December 2024

Abstract: The classical Faulhaber's formula expresses the sum of a fixed positive integer powers of the first n positive integers in terms of Bernoulli polynomial. As a degenerate version of this, we may consider sums of values of degenerate falling factorials, which reduce to aforementioned sum as λ tends to 0. The aim of this note is to derive a recursive formula for sums of values of degenerate falling factorials by using probabilistic method. In this manner, we obtain a new recursive formula for such sums, which involves the (signed) Stirling numbers of the first kind.

Keywords: sums of values of degenerate falling factorials, uniform distribution

MSC: 11B68, 11B83, 60-08

1. Introduction

For $m, n \in \mathbb{N}$, we denote the sum of m -th powers of the first n positive integers by

$$S_m(n) = 1^m + 2^m + \cdots + n^m, \quad (1)$$

(see [1–6]).

This sum has been studied extensively for several hundred years.

Let $B_n(x)$ be the Bernoulli polynomials given by

$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (2)$$

(see [1–28]).

Then the Faulhaber's formula expresses $S_m(n)$ in terms of Bernoulli polynomials $B_n(x)$, which is given by

$$S_m(n) = \frac{1}{m+1} (B_{m+1}(n+1) - B_{m+1}). \quad (3)$$

Two well known recursive formulas for $S_m(n)$ are given by

$$(n+1)^m - 1 = \sum_{k=0}^m \binom{m+1}{k} S_k(n),$$

and

$$S_m(n) = \frac{n^{m+1}}{m+1} + \sum_{k=0}^{m-1} \binom{m}{k} \frac{(-1)^{m-k+1}}{m-k+1} S_k(n), \quad (4)$$

(see [2]).

Recall that the degenerate falling factorials are given by

$$(x)_{0,\lambda} = 1, \quad (x)_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda), \quad (n \geq 1). \quad (5)$$

For $m, n \in \mathbb{N}$, we may consider, as a degenerate version of $S_m(n)$, sums of values of degenerate falling factorials $S_{m,\lambda}(n)$, given by

$$S_{m,\lambda}(n) = (1)_{m,\lambda} + (2)_{m,\lambda} + \cdots + (n)_{m,\lambda}. \quad (6)$$

Note that

$$\lim_{\lambda \rightarrow 0} S_{m,\lambda}(n) = S_m(n) = 1^m + 2^m + \cdots + n^m,$$

(see [1–6]),

$$\lim_{\lambda \rightarrow 1} S_{m,\lambda}(n) = S_{m,1}(n) = (1)_m + (2)_m + \cdots + (n)_m,$$

where $(x)_0 = 1$, $(x)_n = x(x-1)\cdots(x-n+1)$, $(n \geq 1)$.

The aim of this paper is to derive a recursive formula for sums of values of degenerate falling factorials which is given by

$$S_{m,\lambda}(n) = \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \frac{n^{l+1}}{l+1} \quad (7)$$

$$+ \sum_{k=0}^{m-1} \sum_{l=0}^{m-k} \binom{m}{k} \frac{S_1(m-k, l)}{l+1} \lambda^{m-k-l} (-1)^{l+1} S_{k,\lambda}(n).$$

Here the (signed) Stirling numbers of the first kind are defined by

$$(x)_n = \sum_{k=0}^n S_1(n, k) x^k, \quad (n \geq 0), \quad (8)$$

(see [1–28]).

This is done by using the identity $(X+Y)_{m,\lambda} \sum_{k=0}^m \binom{m}{k} (X)_{m-k,\lambda} (Y)_{k,\lambda}$ (see (17)) and computing the expectations $E[(X+Y)_{m,\lambda}]$, $E[(X)_{m-k,\lambda}]$, and $E[(Y)_{k,\lambda}]$. Here $X \sim \text{Uniform}(-1, 0)$, if its probability density function $f_X(x)$ is given by $f_X(x) = 1$, if $-1 \leq x \leq 0$, and $f_X(x) = 0$, otherwise (see (13)), and Y is the uniform random variable on the integers $1, 2, \dots, n$.

As to related previous works, we mention the three papers [18–20]. Two expressions for $S_m(n)$ are derived in [19], the one involving the degenerate Bernoulli numbers and the other in terms of the degenerate Stirling numbers of the second kind. In [18], the following three recurrence relations for $S_m(n)$ are obtained: for $m, n \in \mathbb{N}$,

$$S_{m,\lambda}(n) = \frac{(n+1)_{m+1,\lambda} - (1)_{m+1,\lambda}}{m+1} - \frac{1}{m+1} \sum_{r=0}^{m-1} \binom{m+1}{r} (1)_{m+1-r,\lambda} S_{r,\lambda}(n), \quad (9)$$

$$S_{m,\lambda}(n) = \frac{(n)_{m+1,\lambda}}{m+1} + \frac{1}{m+1} \sum_{r=0}^{m-1} \binom{m+1}{r} (-1)^{m+1-r} \langle 1 \rangle_{m+1-r,\lambda} S_{r,\lambda}(n), \quad (10)$$

$$S_{m,\lambda}(n) = \frac{n(n+1)_{m,\lambda}}{m+1} - \frac{1}{m+1} \sum_{r=1}^{m-1} (1)_{m+1-r,\lambda} \binom{m}{r-1} S_{r,\lambda}(n) \quad (11)$$

$$- \frac{\lambda}{m+1} \sum_{r=1}^{m-1} r \binom{m}{r} (1)_{m-r,\lambda} S_{r,\lambda}(n),$$

where $\langle x \rangle_{n,\lambda}$ are the degenerate rising factorials given by

$$\langle x \rangle_{0,\lambda} = 1, \quad \langle x \rangle_{n,\lambda} = x(x+\lambda) \cdots (x+(n-1)\lambda), \quad (n \geq 1).$$

In [20], formulas analogous to Faulhaber's are derived for the poly-Bernoulli polynomials $B_n^{(k)}(x)$ (see [20] (1.6)), and the type 2 poly-Bernoulli polynomials $\beta_n^{(k)}(x)$ (see [20] (1.8)). Indeed, the following two formulas are obtained: for $n, x \in \mathbb{N}$,

$$\sum_{i=0}^{x-1} \sum_{m=1}^n \sum_{j=1}^m \binom{n}{m} \frac{(j-1)!}{j^{k-1}} (-1)^{m-j} S_2(m, j) t^{n-m} = B_n^{(k)}(x) - B_n^{(k)},$$

$$\sum_{i=0}^{x-1} \sum_{l=1}^n \sum_{m=1}^l \binom{n}{l} \frac{S_1(l, m)}{m^{k-1}} t^{n-l} = \beta_n^{(k)}(x) - \beta_n^{(k)},$$

where $S_2(m, j)$ are the Stirling numbers of the second kind given by

$$\frac{1}{j!} (e^t - 1)^j = \sum_{m=j}^{\infty} S_2(m, j) \frac{t^m}{m!}.$$

For any nonzero $\lambda \in \mathbb{R}$, the degenerate exponentials are defined by

$$e_{\lambda}^x(t) = \sum_{k=0}^{\infty} (x)_{k, \lambda} \frac{t^k}{k!}, \quad e_{\lambda}(t) = e_{\lambda}^1(t), \quad (12)$$

(see [3, 5, 9, 13, 14, 16–19, 21–24, 28]), where $(x)_{n, \lambda}$ is the sequence of degenerate falling factorials in (5). Note that $\lim_{\lambda \rightarrow 0} e_{\lambda}^x(t) = e^{xt}$.

Let X be a continuous random variable. A probability density function $f_X(x)$ of X is an integrable function such that

$$\int_a^b f_X(x) dx = P\{a \leq X \leq b\},$$

(see [3, 5, 16, 17, 26, 29]).

A continuous random variable X is said to have the uniform distribution over the interval $[a, b]$, denoted by $X \sim \text{Uniform}(a, b)$, if its probability density function $f_X(x)$ is given by

$$f_X(x) = \begin{cases} \frac{1}{b-a}, & \text{if } a < x < b, \\ 0, & \text{if } x \leq a \text{ or } x \geq b, \end{cases} \quad (13)$$

(see [26]).

2. Proof of a recursive formula for $S_{m, \lambda}(n)$

Let X be a continuous random variable with probability density function $f_X(x)$. Then the n -th moment of X is defined by

$$E[X^n] = \int_{-\infty}^{\infty} x^n f_X(x) dx, \quad (14)$$

(see [5, 16, 18, 23, 26, 29]).

While, if X is a discrete random variable, then the n -th moment of X is given by

$$E[X^n] = \sum_k P\{X = k\}k^n, \quad (15)$$

(see [5, 16, 18, 23, 26, 29, 30]).

Let X be a continuous random variable with probability density function $f_X(x)$, and let Y be a discrete random variable. Assume that X and Y are independent. Then the probability density function $f_Z(z)$ of the sum $Z = X + Y$ is given by

$$f_Z(z) = \sum_y f_X(z - y)P\{Y = y\}. \quad (16)$$

A common example of a sum involving both a continuous and a discrete random variables is calculating the total cost of a purchase including shipping fees, where the price of the item itself is a continuous variable (can take any value within a range) and the shipping cost is a discrete variable (fixed amount based on the delivery option chosen, for example ‘standard’ or ‘expedited’ or ‘overnight’).

Let $X \sim \text{Uniform}(-1, 0)$ (see (13)), and let a random variable Y have the uniform distribution on the integers $1, 2, \dots, n$. Then, by (16), X and Y are independent and $Z = X + Y \sim \text{Uniform}(0, n)$. By using (12), we can show that

$$(X + Y)_{m, \lambda} = \sum_{k=0}^m \binom{m}{k} (X)_{m-k, \lambda} (Y)_{k, \lambda}, \quad (m \geq 0). \quad (17)$$

Thus, by (17), we have

$$\begin{aligned} E[(X + Y)_{m, \lambda}] &= \sum_{k=0}^m \binom{m}{k} E[(X)_{m-k, \lambda} (Y)_{k, \lambda}] \\ &= \sum_{k=0}^m \binom{m}{k} E[(X)_{m-k, \lambda}] E[(Y)_{k, \lambda}]. \end{aligned} \quad (18)$$

We observe from (8) that

$$\begin{aligned} (z)_{m, \lambda} &= z(z - \lambda)(z - 2\lambda) \cdots (z - (m - 1)\lambda) \\ &= \lambda^m \frac{z}{\lambda} \left(\frac{z}{\lambda} - 1\right) \left(\frac{z}{\lambda} - 2\right) \cdots \left(\frac{z}{\lambda} - (m - 1)\right) \\ &= \lambda^m \left(\frac{z}{\lambda}\right)_m = \sum_{l=0}^m S_1(m, l) \lambda^{m-l} z^l. \end{aligned} \quad (19)$$

From (13), (14) and (19), we note that

$$\begin{aligned}
 E[(X+Y)_{m,\lambda}] &= E[(Z)_{m,\lambda}] = \int_0^n (z)_{m,\lambda} f_Z(z) dz \\
 &= \frac{1}{n} \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \int_0^n z^l dz \\
 &= \frac{1}{n} \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \frac{n^{l+1}}{l+1}.
 \end{aligned} \tag{20}$$

Thus, by (18) and (20), we have

$$\frac{1}{n} \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \frac{n^{l+1}}{l+1} = E[(X+Y)_{m,\lambda}] = \sum_{k=0}^m \binom{m}{k} E[(X)_{m-k,\lambda}] E[(Y)_{k,\lambda}]. \tag{21}$$

On the one hand, as $X \sim \text{Uniform}(-1, 0)$, we get

$$\begin{aligned}
 E[(X)_{m-k,\lambda}] &= \int_{-1}^0 (x)_{m-k,\lambda} f_X(x) dx = \int_{-1}^0 (x)_{m-k,\lambda} dx \\
 &= \sum_{l=0}^{m-k} S_1(m-k, l) \lambda^{m-k-l} \int_{-1}^0 x^l dx \\
 &= \sum_{l=0}^{m-k} \frac{S_1(m-k, l)}{l+1} \lambda^{m-k-l} (-1)^l.
 \end{aligned} \tag{22}$$

On the other hand, since Y has the uniform distribution on the integers $1, 2, 3, \dots, n$ (see (15)), we get

$$E[(Y)_{k,\lambda}] = \sum_{l=0}^n (l)_{k,\lambda} P\{Y=l\} = \frac{1}{n} \sum_{l=1}^n (l)_{k,\lambda} = \frac{1}{n} S_{k,\lambda}(n). \tag{23}$$

By (21), (22) and (23), we derive

$$\begin{aligned}
 \frac{1}{n} \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \frac{n^{l+1}}{l+1} &= \sum_{k=0}^{m-1} \binom{m}{k} E[(X)_{m-k,\lambda}] E[(Y)_{k,\lambda}] + E[(Y)_{m,\lambda}] \\
 &= \frac{1}{n} \sum_{k=0}^{m-1} \binom{m}{k} \sum_{l=0}^{m-k} \frac{S_1(m-k, l)}{l+1} \lambda^{m-k-l} (-1)^l S_{k,\lambda}(n) + \frac{1}{n} S_{m,\lambda}(n).
 \end{aligned} \tag{24}$$

Thus, from (24), we obtain the following theorem.

Theorem 2.1 For $m, n \in \mathbb{N}$, we have the recurrence relation

$$S_{m,\lambda}(n) = \sum_{k=0}^{m-1} \sum_{l=0}^{m-k} \binom{m}{k} \frac{S_1(m-k, l)}{l+1} \lambda^{m-k-l} (-1)^{l+1} S_{k,\lambda}(n) \\ + \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \frac{n^{l+1}}{l+1}.$$

By taking both $\lambda \rightarrow 0$ and $\lambda \rightarrow 1$ of the recurrence relation in Theorem 2.1, we obtain the following identities, the first of which is the one in (4).

Corollary 2.2 For $m, n \in \mathbb{N}$, we have the recurrence relations

$$S_m(n) = \sum_{k=0}^{m-1} \binom{m}{k} \frac{1}{m-k+1} (-1)^{m-k+1} S_k(n) + \frac{n^{m+1}}{m+1}, \\ S_{m,1}(n) = \sum_{k=0}^{m-1} \sum_{l=0}^{m-k} \binom{m}{k} \frac{S_1(m-k, l)}{l+1} (-1)^{l+1} S_{k,1}(n) \\ + \sum_{l=0}^m S_1(m, l) \frac{n^{l+1}}{l+1}.$$

Remark 2.3 By taking $\lambda \rightarrow 0$ of (10), we obtain the recurrence relation given by

$$S_m(n) = \frac{n^{m+1}}{m+1} + \frac{1}{m+1} \sum_{r=0}^{m-1} \binom{m+1}{r} (-1)^{m+1-r} S_r(n), \quad (25)$$

which is easily seen to be equal to the first recurrence relation in Corollary 2.2. Indeed, we observe that (25) is equal to

$$S_m(n) = \frac{n^{m+1}}{m+1} + \frac{1}{m+1} \sum_{r=0}^{m-1} \binom{m+1}{m+1-r} (-1)^{m+1-r} S_r(n) \\ = \frac{n^{m+1}}{m+1} + \frac{1}{m+1} \sum_{r=0}^{m-1} \binom{m}{m-r} \frac{m+1}{m+1-r} (-1)^{m+1-r} S_r(n) \\ = \frac{n^{m+1}}{m+1} + \sum_{r=0}^{m-1} \binom{m}{r} \frac{1}{m+1-r} (-1)^{m+1-r} S_r(n).$$

Remark 2.4 Here we observe that the recurrence relation in Theorem 2.1 involves the Stirling numbers of the first kind and no degenerate falling factorials, while all the recurrence relations in (9), (10) and (11) involve degenerate falling factorials and no Stirling numbers of the first kind. The Stirling numbers of the first kind can be easily determined, for

example by using $S_2(n+1, k) = S_2(n, k-1) + kS_2(n, k)$, ($n \geq k \geq 0$). However, computing degenerate falling factorials are not so easy. Thus we may say that the recurrence relation in Theorem 2.1 is better than those in (9), (10) and (11).

We now consider more general case. Let $X_{a,c} \sim \text{Uniform}(a, a+c)$, and let Y be the uniform distribution on the integers $1, 2, \dots, n$, as before, where a, c are real numbers with $0 < c \leq 1$. Then, by (16), we see that $X_{a,c}$ and Y are independent and $Z_{a,b} = X_{a,b} + Y$ has the probability density function $f_{Z_{a,c}}(x)$ given by

$$f_{Z_{a,c}}(x) = \begin{cases} \frac{1}{nc}, & \text{if } x \in \cup_{j=1}^n (j+a, j+a+c), \\ 0, & \text{otherwise.} \end{cases} \quad (26)$$

From (14), (19) and (26), we note that

$$\begin{aligned} E[(X_{a,c} + Y)_{m,\lambda}] &= E[(Z_{a,c})_{m,\lambda}] = \int_{-\infty}^{\infty} (z)_{m,\lambda} f_{Z_{a,c}}(z) dz \\ &= \frac{1}{nc} \sum_{j=1}^n \int_{j+a}^{j+a+c} (z)_{m,\lambda} dz \\ &= \frac{1}{nc} \sum_{j=1}^n \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \int_{j+a}^{j+a+c} z^l dz \\ &= \frac{1}{nc} \sum_{j=1}^n \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \frac{1}{l+1} ((j+a+c)^{l+1} - (j+a)^{l+1}) \\ &= \frac{1}{nc} \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \frac{1}{l+1} \sum_{j=1}^n ((j+a+c)^{l+1} - (j+a)^{l+1}). \end{aligned} \quad (27)$$

In addition, as $X_{a,c} \sim \text{Uniform}(a, a+c)$, we get

$$\begin{aligned} E[(X_{a,c})_{m-k,\lambda}] &= \int_a^{a+c} (x)_{m-k,\lambda} f_{X_{a,c}}(x) dx = \frac{1}{c} \int_a^{a+c} (x)_{m-k,\lambda} dx \\ &= \frac{1}{c} \sum_{l=0}^{m-k} S_1(m-k, l) \lambda^{m-k-l} \int_a^{a+c} x^l dx \\ &= \frac{1}{c} \sum_{l=0}^{m-k} \frac{S_1(m-k, l)}{l+1} \lambda^{m-k-l} ((a+c)^{l+1} - a^{l+1}). \end{aligned} \quad (28)$$

As $E[(X_{a,c} + Y)_{m,\lambda}] = \sum_{k=0}^{m-1} \binom{m}{k} E[(X_{a,c})_{m-k,\lambda}] E[(Y)_k,\lambda] + E[(Y)_{m,\lambda}]$, from (23), (27) and (28), we get the following result. Notice here that Theorem 2.1 corresponds to the $a = -1, c = 1$ case of the following.

Theorem 2.5 Let $m, n \in \mathbb{N}$, and let a, c be any real numbers with $0 < c \leq 1$. Then we have the recurrence relation

$$cS_{m,\lambda}(n) = \sum_{k=0}^{m-1} \sum_{l=0}^{m-k} \binom{m}{k} \frac{S_1(m-k, l)}{l+1} \lambda^{m-k-l} (a^{l+1} - (a+c)^{l+1}) S_{k,\lambda}(n) \\ + \sum_{l=0}^m S_1(m, l) \lambda^{m-l} \frac{1}{l+1} \sum_{j=1}^n ((j+a+c)^{l+1} - (j+a)^{l+1}).$$

By taking both $\lambda \rightarrow 0$ and $\lambda \rightarrow 1$ of the identity in Theorem 2.3, we obtain the following corollary.

Corollary 2.6 Let $m, n \in \mathbb{N}$, and let a, c be any real numbers with $0 < c \leq 1$. Then we have the recurrence relations

$$cS_m(n) = \sum_{k=0}^{m-1} \binom{m}{k} \frac{1}{m-k+1} (a^{m-k+1} - (a+c)^{m-k+1}) S_k(n) \\ + \frac{1}{m+1} \sum_{j=1}^n ((j+a+c)^{m+1} - (j+a)^{m+1}), \\ cS_{m,1}(n) = \sum_{k=0}^{m-1} \sum_{l=0}^{m-k} \binom{m}{k} \frac{S_1(m-k, l)}{l+1} (a^{l+1} - (a+c)^{l+1}) S_{k,1}(n) \\ + \sum_{l=0}^m S_1(m, l) \frac{1}{l+1} \sum_{j=1}^n ((j+a+c)^{l+1} - (j+a)^{l+1}).$$

Remark 2.7 There are too numerous applications of sums of powers of consecutive integers $S_m(n)$ (see (1)) to mention, which is the limit $\lambda \rightarrow 0$ of $S_{m,\lambda}(n)$ (see (6)). These include applications to computer science, physics, engineering, statistics, combinatorics, numerical analysis, number theory, finance and geometry. More specifically, sums of powers of consecutive integers can be used to analyze the time complexity of algorithm and optimize algorithms that involve iterating data structures, to calculate the energy levels of atoms and molecules in quantum mechanics and the average energy of a system of particles in statistical mechanics, to model the behavior of the vibration of a bridge in civil engineering and analyze systems with regular patterns in electrical engineering, to compute moments of a distribution in statistics, to encode combinatorial information in generating functions and solve various counting problems, to approximate solutions to numerical problems related to differential equations, to give integer solutions to some diophantine equations, to model the growth of investments over time in finance, and to compute the area of a polygon and the volume of a solid in geometry. In this paper, we derived a recursive formula for $S_{m,\lambda}(n)$ (see Theorem 2.1) by utilizing probabilistic methods. The sums of powers of consecutive integers $S_m(n)$ have wide-ranging applications across many fields, and similarly, the sums of values of degenerate falling factorials $S_{m,\lambda}(n)$ are expected to play a key role in solving many real-world problems.

3. Further remark

With the degenerate exponentials as in (12), the degenerate Bernoulli polynomials, introduced by Carlitz, are given by

$$\frac{t}{e_{\lambda}(t)-1} e_{\lambda}^x(t) = \sum_{n=0}^{\infty} \beta_{n,\lambda}(x) \frac{t^n}{n!}, \quad (29)$$

(see [7, 13, 17, 22, 25]).

When $x = 0$, $\beta_{n,\lambda} = \beta_{n,\lambda}(0)$ are called the degenerate Bernoulli numbers.

Note that $\lim_{\lambda \rightarrow 0} \beta_{n,\lambda}(x) = B_n(x)$, ($n \geq 0$), where $B_n(x)$ are the ordinary Bernoulli polynomials in (2). From (29), we note that

$$\beta_{n,\lambda}(x) = \sum_{k=0}^n \binom{n}{k} \beta_{k,\lambda}(x) \beta_{n-k,\lambda}, \quad (n \geq 0). \quad (30)$$

By (30), we get $\beta_{0,\lambda}(x) = \beta_{0,\lambda}$.

Now, we observe that

$$\begin{aligned} \sum_{k=0}^n e_{\lambda}^k(t) &= \frac{1}{e_{\lambda}(t)-1} (e_{\lambda}^{n+1}(t) - 1) \\ &= \frac{1}{t} \left(\frac{t}{e_{\lambda}(t)-1} e_{\lambda}^{n+1}(t) - \frac{t}{e_{\lambda}(t)-1} \right) \\ &= \frac{1}{t} \sum_{m=0}^{\infty} (\beta_{m,\lambda}(n+1) - \beta_{m,\lambda}) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\frac{\beta_{m+1,\lambda}(n+1) - \beta_{m+1,\lambda}}{m+1} \right) \frac{t^m}{m!}. \end{aligned} \quad (31)$$

On the other hand, by (17), we get

$$\sum_{k=0}^n e_{\lambda}^k(t) = \sum_{m=0}^{\infty} \left(\sum_{k=0}^n (k)_{m,\lambda} \right) \frac{t^m}{m!}. \quad (32)$$

Comparing the coefficients on both sides of (31) and (32), we have the following proposition.

Proposition 3.1 For $m, n \in \mathbb{N}$, we have the identity

$$S_{m,\lambda}(n) = \sum_{k=0}^n (k)_{m,\lambda} = \frac{1}{m+1} (\beta_{m+1,\lambda}(n+1) - \beta_{m+1,\lambda}). \quad (33)$$

We note that (33) reduces to the Faulhaber's formula in (3) by letting $\lambda \rightarrow 0$.

4. Conclusion

In recent years, certain degenerate versions of many special numbers and polynomials have been investigated by employing different methods. Indeed, they have been explored by using probability theory, combinatorial methods, generating functions, umbral calculus, p -adic calculus, differential equations, special functions and analytic number theory.

In this paper, by computing $E[(X+Y)_{m,\lambda}] = \sum_{k=0}^m \binom{m}{k} E[(X)_{m-k,\lambda}] E[(Y)_{k,\lambda}]$, we derived a recursive relation for $S_{m,\lambda}(n)$ (see (6), (7)). Here $X \sim \text{Uniform}(-1, 0)$ (see (13)), and Y is the uniform random variable on the integers $1, 2, \dots, n$. We let the reader compare our recursive formula in (7) with the ones in (9), (10) and (11). In addition, we showed an expression for $S_{m,\lambda}(n)$ in (29), which is a degenerate version of the well known expression for $S_m(n)$ (see, (1), (3)).

As one of our future research projects, we would like to continue to study degenerate versions of various things, which include special numbers and polynomials, some transcendental functions, recurrence relations and so on.

Conflict of interest

The authors declare no competing financial interest.

References

- [1] Dolgy DV, Park JW. A note on a sum of powers of q -integers or skip count by k . *Advanced Studies in Contemporary Mathematics (Kyungshang)*. 2023; 33(1): 87-93.
- [2] Hu X, Zhong Y. A probabilistic proof of a recursion formula for sums of powers. *American Mathematical Monthly*. 2020; 127(2): 166-168.
- [3] Kim DS, Kim H, Kim T. A note on infinite series whose terms involve truncated degenerate exponentials. *Applied Mathematics in Science and Engineering*. 2023; 31(4): 2205643.
- [4] Kim DS, Kim T. Moment representations of fully degenerate Bernoulli and Degenerate Euler polynomials. *Russian Journal of Mathematical Physics*. 2024; 31: 682-690.
- [5] Kim T, Kim DS. Probabilistic Bernoulli and Euler polynomials. *Russian Journal of Mathematical Physics*. 2024; 31(1): 94-105.
- [6] Nunemacher J, Young RM. On the sum of consecutive K th powers. *Mathematics Magazine*. 1987; 60(4): 237-238.
- [7] Carlitz L. Degenerate Stirling, Bernoulli and Eulerian numbers. *Utilitas Mathematica*. 1979; 15: 51-58.
- [8] Chen L, Kim T, Kim DS, Lee H, Lee SH. Probabilistic degenerate central Bell polynomials. *Mathematical and Computer Modelling of Dynamical Systems*. 2024; 30(1): 523-542.
- [9] Chen M. Proof without words: Sums of consecutive powers of n via self-similarity. *Mathematics Magazine*. 2004; 77(5): 373.
- [10] Gun D, Simsek Y. Combinatorial sums involving Stirling, Fubini, Bernoulli numbers and approximate values of Catalan numbers. *Advanced Studies in Contemporary Mathematics (Kyungshang)*. 2020; 30(4): 503-513.
- [11] Hwang KS. Almost sure convergence of weighted sums for widely negative dependent random variables under sub-linear expectations. *Advanced Studies in Contemporary Mathematics (Kyungshang)*. 2022; 32(4): 465-477.
- [12] Kilar N, Simsek Y. Relations on Bernoulli and Euler polynomials related to trigonometric functions. *Advanced Studies in Contemporary Mathematics (Kyungshang)*. 2019; 29(2): 191-198.
- [13] Kim DS, Kim HK, Kim T. New approach to λ -Stirling numbers. *AIMS Mathematics*. 2023; 8(12): 28322-28333.
- [14] Kim DS, Kim TK. Normal ordering associated with λ -Whitney numbers of the first kind in λ -shift algebra. *Russian Journal of Mathematical Physics*. 2023; 30(3): 310-319.
- [15] Kim T, Kim DS. Explicit formulas for probabilistic multi-poly-Bernoulli polynomials and numbers. *Russian Journal of Mathematical Physics*. 2024; 31(3): 450-460.
- [16] Kim T, Kim DS. Generalization of Spivey's recurrence relation. *Russian Journal of Mathematical Physics*. 2024; 31(2): 218-226.

- [17] Kim T, Kim DS. A note on degenerate multi-poly-Bernoulli numbers and polynomials. *Applicable Analysis and Discrete Mathematics*. 2023; 17(1): 47-56.
- [18] Kim T, Kim DS. A probabilistic proof of a recurrence relation for sums of values of degenerate falling factorials. *arXiv:240907742*. 2024. Available from: <https://doi.org/10.48550/arXiv.2409.07742>.
- [19] Kim T, Kim DS, Kim HK. Some identities related to degenerate Stirling numbers of the second kind. *Demonstratio Mathematica*. 2022; 55: 812-821.
- [20] Kim T, Kim DS, Kwon J. Analogues of Faulhaber's formula for poly-Bernoulli and type 2 poly-Bernoulli polynomials. *Montes Taurus Journal of Pure and Applied Mathematics*. 2021; 3(1): 1-6.
- [21] Kim T, Kim DS, Kwon J, Lee H. Lerch-harmonic numbers related to Lerch transcendent. *Mathematical and Computer Modelling of Dynamical Systems*. 2023; 29(1): 315-323.
- [22] Kim T, Kim DS, Park JW. Degenerate r -truncated Stirling numbers. *AIMS Mathematics*. 2023; 8(11): 25957-25965.
- [23] Luo L, Kim T, Kim DS, Ma Y. Probabilistic degenerate Bernoulli and degenerate Euler polynomials. *Mathematical and Computer Modelling of Dynamical Systems*. 2024; 30(1): 342-363.
- [24] Luo L, Ma Y, Kim T, Li H. Some identities on degenerate poly-Euler polynomials arising from degenerate polylogarithm functions. *Applied Mathematics in Science and Engineering*. 2023; 31(1): 2257369.
- [25] Park JW, Pyo SS. A note on degenerate Bernoulli polynomials arising from umbral calculus. *Advanced Studies in Contemporary Mathematics (Kyungshang)*. 2022; 32(4): 509-525.
- [26] Ross SM. *Introduction to Probability Models, Thirteenth Edition*. London: Academic Press; 2024.
- [27] Saha M, Debnath L. Random fixed point of mappings over a Hilbert space with a probability measure. *Advanced Studies in Contemporary Mathematics (Kyungshang)*. 2009; 18(1): 97-104.
- [28] Xu R, Kim T, Kim DS, Ma Y. Probabilistic degenerate Fubini polynomials associated with random variables. *Journal of Nonlinear Mathematical Physics*. 2024; 31(1): 47.
- [29] Wang D. On the expectation of two dimensional fuzzy random variables with respect to a cone induced order. *Advanced Studies in Contemporary Mathematics (Kyungshang)*. 2003; 7(2): 167-178.
- [30] Atanassov KT, Kolev BI. On an intuitionistic fuzzy implication from a probabilistic type. *Advanced Studies in Contemporary Mathematics (Kyungshang)*. 2006; 12(1): 111-116.